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HENEFY I

(RnELY - #EENEFY)

() 96+73+4
= (96+4)+73
= | 00+73
=173

2) 8X30X 125
= (8X125)X30
= | 000X30

= 30000

(3) 25X8X4
= (25X4)X8
= 1008

= 800

%) 91+35+65
= 9| +(35+65)
=91+100

= 19|

5) 8X|125X51
= (8X125)X5]|
= 1000X5 |

= 51000

6) 6X4X25
= 6X(4X25)
= 6X100

= 600

R a ( )
(1) 57+7.3+2.7
= 57+(7.3+2.7)
= 57+10
= 67

® 75+4.8+5.2
= 75+(4.8+5.2)
= T75+10

= 85

@ 3.9+6146. |
= (3.946.1)+6|
= 10+61

=71

(10)y 734+27+93
= (73+27)+93
= | 00+93
= 193

(11) 87X8X |25
= 87X (8X125)
= 87X 1000
= 87000

(12) B4X25X4
= B4 X(4X25)
= 54X 100
= 5400
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